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QUESTION 1

Which action can be taken if an instance is down?

A. A point-in-time mixed restore.

B. Warm restore of non-critical storage spaces.

C. Cold restore by onbar using storage space backups taken by ontape on tape devices.

D. A mixed restore using onbar whole system backup and incremental dbspace level backups.

Correct Answer: A

QUESTION 2

When you take a level 2 backup, what data is backed up?

A. All new data since the last level 1 backup.

B. All new data since the last level 2 backup.

C. All logical logs which have not previously been backed up.
D. All new data since the last level 0, level 1 or level 2 backup.

Correct Answer: A

QUESTION 3

Which SQL statement is valid to monitor database server sessions?
A. EXECUTE FUNCTION task ("onstat","-g ses");

B. EXECUTE FUNCTION task ("view sessions","all");

C. EXECUTE FUNCTION task (“check sessions","all");

D. EXECUTE FUNCTION task ("check server","sessions");

Correct Answer: A

QUESTION 4

To potentially reduce table extent interleaving, an Informix administrator would execute which storage optimization
operation?

A. Shrink
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B. Repack
C. Compress
D. Defragment

Correct Answer: D

QUESTION 5

The sector option for cdr utility is used to perform what operation?

A. Dynamically convert ER cluster instances in order to perform rolling upgrades.

B. Dynamically convert H/A cluster instances in order to perform rolling upgrades.

C. Dynamically reconfigure Connection Manager SLAs for ER clusters in order to perform rolling upgrades.
D. Dynamically reconfigure Connection Manager SLAs for H/A clusters in order to perform rolling upgrades.

Correct Answer: B
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